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SOCIOLOGY
( Honours Core )
Paper : SOC-HC-1026

( Sociology of India-T )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks '
for the questions

- 1. Answer the following as directed : 1x10=10
wer® AT et Teq f - <

(a) Who is the author of the book, History of
Caste in India?
History of Caste in India T3 J¥I{

CRE T ? _

(b) emphasized the significance of the
dialectical model in studying rural
society.

S TS SRS Aed SiRY OIRed
SIS YFY A7 IR |
i) A. B. Mukherji
Q. . 38
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(c)
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(2)

(ii) K. M. Kapadia
. @ T
(iii) P. V. Kane .
. &= _
(iv) Ramkrishna Mukherjee
s T
( Choose the correct option )

(@faﬁﬁﬁmwﬁ%ﬁ@)

Which of the following is mnot a
characteristic of joint family?.

<o (PRCH (N IR CafE R 2
(i) Joint ownership of property

o] (Y RS

(ii) Co-residentiality
HZ-SRIPRPO!

(iii) Private ownership of property
elfie T AT

(iv) Common worship

AYREICS Slerzet 1 GEFE
( Choose the correct option )

(@ﬁﬁﬁtﬁﬂfﬁ%@i@)

( Continued )

(d)

(e)
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(3)

Which of the following is not a primary
kin?
SoF (IO A1 S 7= 2
(i) Mother
My
(ii) Father
fore
(iii) Uncle
Rl
(iv) Brother
arg
( Choose the correct option )

( wm Resco a1z e )

Which of the following kinship terms
indicates that father’s sister is given
greater importance than the mother?

T R IO R O (el
Pres e wiie @Y i = ?

(i) Amitate
(ii) Avunculate
iii) Couvade

(iv) Teknonymy
( Choose the correct option )

(o= Remco! AR Sferean )
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(4) (5)
i
() The Child Marriage Act amended in | (h) What phrase was coined by Jawaharlal
1929 raised the minimum age of Nehru to describe the diversity of India?
marriage for girls’ from S[ed (AR IR AE TR GRIE &
sp3s O FeRe AEn RAR Siw SEEE @%’l Wﬂ??ﬁf*&?{. ?-
@R R RS e T FA () Strength in Unity
‘ 7S ¥
¥ : L s - (1) Diversity in Harmony
S¢-St =S o
(it) 20-25 years (tii) Unity in Diversity
30-3¢ 929 e &
(iii) 14-16 years (iv) Rich Tl;?diﬁon of Unity
58-5>% =Y I PRl
- ( Choose the correct option )
() 3590 yoar (5 st R S
RS (i) Which one of the following cl
t g classes does
( Choose the correct (;%1:; ; not exist in villages?
(o7 Rescs! AR o PR I ST R 2
] . divided (i) Middle class
ditional Hindu society was
@ 3:(‘) Varnas based on the e c@
occupatidn of an individual. (i) Farmer class
(three/four/ five/ seven) 53 9t
19T f%'i eGP GG Fifed ?{ﬁﬁ fofas (iii) Labour class
CafEe | - Wi et
IS e ¥4 o .
(ﬁﬁﬁ”ﬁﬁﬁﬂﬂﬁﬁ/mwm)l (iv) Landlord class
( Choose the correct option ) Tifere e
(w7 Rrrsicor AR Bferea ) ( Choose the correct option )
_ ( om feseor it Sfea ) :
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0)

2. Answer the following questions :

(6)

Who were the carriers of Nationalism
during colonial period?
ST TEe  FOHeRIE IRF @M
wifeE 2 '
(i) Rural upper class
2 % et
(i) Urban middle class -
e Wik e
(iij) Urban upper class
o Tw e
.(iv) Rural middle class
am Jyie @M
( Choose the correct option )

( wm Rt MR e )

T {7l eReaR] Ted fua

(@)

(b)

(c)

24A/295

Why was the need felt by the British
colonisers to study Indian society?

e CARGEPRRE SRON TS S
TGSl 7 Seq JffRe 2

Define Nationalism.

HomeRIA 7 fa |

What is subaltern perspective?

i (subaltern) FiES:a &2

( Continued )

2x5=10

(7)

(d) What is ‘division of labour’?
oy RoreA’ 2

() What do you understand by the term
Scheduled Tribe?
o TSSO Al s 6 i e 2

3. Answer the following (any foun) : 5x4=20
<o fRaTERS T fan (R oo wifo) -
(a) Write about the criteria identified for the
specification of a community as

Scheduled Tribe by the Lokur
Committee (1965).

BT TRMER TPt Swae o e TIm
I@ G IO (svve) @ e
o fREc A

(b) Mention any four challenges tﬁat India
faced in the formation of ‘nationhood’.

Grore! ST SRTe WM @[ R
FIIR61 LSRR F21 SCad 41 |

(c) Write briefly on B. R. Ambedkar’s view :
on subaltern communities of India.

SHes A (subaltern) FRRATER @S .
4. ST TORS HLS & |

(d) Write a short note on the semi-feudal
nature of Indian agrarian society.

SR PR e S-S TR SO o1
o (O o | :
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(8)

(e) Explain briefly the views of Mahatma
Gandhi on Indian villages.
SN R €S NI TR TOHS HE

ARA A

() Discuss on matriliny as practised by
Khasis in North-East India.
37ER REE Sce=n 1 |
4. Answer any four of the following questions :
v 10x4=40
o7 Tl 2R A e wiReE Ted il :
(a) Discuss the influence of colonial

(b)

()

(d)

discourse on sociology of India.
SReq TEEE ¢S ST IO
ofeIRd fRCH eev= 341 |
Explain the various approaches to study
kinship system in India.
SRET el IR T R = 00 4 |
Discuss the nature of Indian villages
and its role in shaping India’s economy.

; 5+5=10
SR A 4% WF SHeT SLAS o e
TR SR ITACE ST 1 |
Critically examine the consequences of
industrialization in sociocultural life in
India.
SATA NIRRT GieTe BTN
oIfRelfS FANCAGAIFOICT =T 1 |

(9)

(e) Discuss how caste system has changed
in contemporary India.

FPHET SRS §fe IRTR @ ARIo

(9

(h)

27, G R Seen <41 |

Discuss the ideas of any two thinkers of
sociology on explaining the relationship
between religion and society in India.

5+5=10
SRS AF TG TIF IR F Fae
ITEegd A Il K& ORIReE G=el e
40|

Discuss the different challenges faced
by the tribal communities in Indian

- society. What measures can you suggest

to overcome the challenges? S5+5=10
SR TGS GO GBI R
@a R[few Wﬁ@m RE@ =eamwa 41 |
FOTRIPIR Sfoay FRc SEH & & IrzE
[ 773 #1e 2 ‘ i3

Discuss about the nature and functions
of agrarian classes in India. 5+5=10

TRe] IR T 2 S FRT RISt -
90 |
* Kk -

24A—500/295 3 (Sem-1/CBCS) SOC HC 2



